DPL SERIES

2-Jaw Precision Parallel Grippers | Features and Benefits | How To Order

Features:
* Robust long stroke, high grip force precision gripper
* Rack and pinion design with double acting pistons
* Shielded design to repel chips and particulates
* Synchronous or non-synchronous jaw operation
* Spring assist option maintains grip
in case of air pressure loss
* Multi-position sensing up to 3 locations

Applications:

* Packaging, pick and place applications
* Long finger gripping applications

* Large and heavy part handling

How To Order Size
Base Model 2520 3250
DPL 2535 4040

3230 4070

N

DPL-4070
DPL-4040

DPL-3250

DPL-3230

DPL-2535

(USB key shown for scale)

DPL-2520

Jaw Synchronization Description
“Blank”
NS Non-Synchronous Operation

Synchronous

C)-C

Spring Description

“Blank”

No Spring

R Spring Assist

Accessories

Sensor Accessories

M8 PNP Magneto Resistive Sensor with Quick Disconnect*
M8 NPN Magneto Resistive Sensor with Quick Disconnect*
M8 PNP Magneto Resistive Sensor (90° barrel) w/Qk. Disc.*
M8 NPN Magneto Resistive Sensor (90° barrel) w/Qk. Disc.*
M8 PNP Inductive Sensor with Quick Disconnect*

M8 NPN Inductive Sensor with Quick Disconnect*

M12 PNP Inductive Sensor with Quick Disconnect*

M12 NPN Inductive Sensor with Quick Disconnect*
Inductive Sensor Mounting Kit (3 Holders + 2 Flags)

M8 Quick Disconnect 2 Meter Cable Length*

M8 Quick Disconnect 5 Meter Cable Length*

M12 Quick Disconnect 2 Meter Cable Length*

M12 Quick Disconnect 5 Meter Cable Length*

Pneumatic Accessories

Fitting Push-in Straight M5 - 6mm O.D. Tube
Fitting Push-in 90° Elbow M5 - 6mm O.D. Tube
Fitting Push-in Straight G1/8 - 6mm O.D. Tube
Fitting Push-in 90° Elbow G1/8 - 6mm O.D. Tube

*Sensor and cable sold separately.

@ESTACD
] ATB0vER) companr

GR-PRC-23

Model Numbers Part Number Qty/Unit

All Models OHSP-017 1-3

All Models | OHsN-017 | 1-3

All Models | oHsp011 | 1-3

All Models | OHsN-011 | 1-3

All Models | oisp011 | 1-3

All Models | oisn-011 | 1-3

All Models | oisp-017 | 1-3

All Models | oisNn-017 | 1-3

See Datasheet | 1

All Models | caBLo10 | 1-3

All Models | caBL-013 | 1-3

4040, 4070 | caBL-014 | 1-3

4040, 4070 | caBLo18 | 13
Model Numbers Part Number = Qty/Unit

2520, 2535 |  PLFT-037 | 1-2

2520, 2535 |  PLFT041 | 1-2

3230, 3250, 4040, 4070 | PLFT-038 | 1-2

3230, 3250, 4040, 4070 |  PLFT-042 | 1-2

Dimensions and technical information are subject to change without notice



DPL SERIES

2-Jaw Precision Parallel Grippers | Technical Specifications

Specifications Units 2520 2535 3230
Total Rated Grip Force F @ 100 psi N [Ib] 811 [182] | 768 [173] | 1359 [306]
Total Stroke mm [in] 40 [1.57] | 70 [2.76] | 60 [2.36]
Weight kg [Ibs] 1.38 [3.04] | 1.80 [3.97] | 2.26 [4.98]
Pressure Range (without springs) bar [psi] 2-7 [30-100]

Pressure Range (with springs) bar [psi] 4-7 [60-100]

Ingress Protection Class (IP) IP54

Displacement cm? [ind] 39 [2.38] | 68 [4.15] | 96 [5.86]
Temperature Range °C [°F] -20°~80° [-4°~180°]

Actuation sec 0.3 | 0.4 | 0.4
Accuracy mm [in] +0.08 [+0.003]

Repeatability mm [in] +0.025 [+£0.0010]

Valve to Actuate Single Acting 3-way, 2-position

Valve to Actuate Double Acting 4-way, 2-position

Specifications

Total Rated Grip Force F @ 100 psi N [lb] 1306 [294] 2035 [457] 2029 [456]
Total Stroke mm [in] 100 [3.94] | 80 [3.15] | 140 [5.51]
Weight kg [Ibs] 3.02 [6.66] | 4.30 [9.48] | 6.00 [13.23]
Pressure Range (without springs) bar [psi] 2-7 [30-100]

Pressure Range (with springs) bar [psi] 4-7 [60-100]

Ingress Protection Class (IP) IP54

Displacement em? [in] 160 [9.96] | 200 [12.20] | 350 [21.36]
Temperature Range °C [°F] -20°~80° [-4°~180°]

Actuation sec 0.5 | 0.5 | 0.7
Accuracy mm [in] +0.08 [+0.003]

Repeatability mm [in] +0.025 [+0.0010]

Valve to Actuate Single Acting 3-way, 2-position

Valve to Actuate Double Acting 4-way, 2-position

Dimensions and technical information are subject to change without notice GR-PRC-24 @ESTACD

ASoovER) coupmnr




DPL-2520

2-Jaw Precision Parallel Grippers | Dimensions and Technical Specifications

. 152 [5.98]
Senso Accessories : : 2520 4x M5x 12 [47]DP|
Inductive Sensor Mounting Kit (3 holders + 2 flags) OSMK-099 o 138[5.43]
|
Seal Repair Kits 2520 C @ ] N
Buna-N Seal Repair Kit SLKT-233 D / v
Rear Inlet Seal Repair Kit SLKT-316 | | Q ® @D ® é| |
Mounting Accessories 2520 % i € 61 [2.40]
In-line Jaw Mounting Kit ODPL-001
| |[90@eo| |
mm [INCH] ‘ ‘
e 2 w
Gripper Manifold @_ﬂ . ] ;
| Air Port ¢ 20 +0.016[0.787420.0006]
THIRD ANGLE
L 1.9 xD5.7 PROJECTION 40 [1.575] =
" 10 [0.39] — 54[2.13] —= 10 [0.39]
[0.165] Max.
) .
Our grippers are supplied with Jaws shown _at mid stroke - ——— T 11 MSAIrSpO:;f]s DP
open side air ports and top air T N _M5x8[.31] DP
ports plugged. When operating ﬂ Ly H L D
top air ports, produce manifold Lo L 14 [0.55
sealing as shown (seals are ‘
provided with your gripper in —F
a sealed bag) Part# SLKT-316 Aux. Air ports | T 14 10.55]
M5x 8 [.31]DP 3l =
Supplied plugged _l
f«—— 57 [2.24] —= 126 [4.96]
.31 i i
8 [0.31] 17 [0.67] 4xM5x8 [0.31]DP 19,05 [0.7500] M5 2 );Ig/}’anlfollcz!Aér plorts g
-0.020 -0.0008 m donotexceed . X supplied pugge
12 -0.041 |0.4724-0.0016 21 [0.83]‘ 5 [0.20] mounting hole depth € Provided with2 x O-Ring @1.9x &5.7
© O @ O
>P O

67 [2.64]
75[2.95] | 33[1.30] G&—|

38.10 [1.500]

2510, 4121
S10.98] 1 00 12.4016) ¢ T 542,131

D O
81[0.31] ‘ ‘
7 [0.28] \@ @ @ @
2x D6H9 x 8 DP
+o,o15[ +ooooe] ~— 53.5[2.106]
X 4 Al . +0.0012 . .
5 +0.006 |4 x @ 0.1969+0.0002 21[0.83] [2 X ©0.2362-0.0000 x .31 DPI /

44[1.73]

Y

Purge /Scavenge port 2 x @5 H9 x 6 DP 4 x M8 or 4 x clearance
2 x M5 x 6 [.24] DP BOTH SIDE ’ X 00612 ] 88.00 [3.4646] — = / 36 8 for M6 SHC Scrows
—— 54[213] —= 2 x @0.1969 -0.0006x.23 DP
Loading Information
z —Z=M
N Ibs. GRIP FORCE PER rmg,sn . @g
400 90 4 (springs compressed at mid-stroke) v X
WARNING!
g W e U
~
1300 67 FINGER LENGTHS il 1 ~——wx
z, S~ N
$200 451 —
= =
2100 22 0PI [0 b 4 : DPL-520 Static Dynamic
c L s Maximum Tensile T 222 N [50 Ibs] 67 N [15 lbs]
) ‘\‘ Maximum Compressive € 222 N [50 Ibs] I 67 N [15 lbs]
0 2 4 6 8 10 in. i in- in-
0 s 100 120 200  250mm MQX{mum Moment My 6 Nm [50 {n Ibs] I 1 Nm [12 !n Ibs]
EFFECTIVE FINGER LENGTH - L Maximum Moment My 7 Nm [60 in-lbs] | 2 Nm [15 in-lbs]
Maximum Moment Mx 6 Nm [50 in-lbs] I 1 Nm [12 in-lbs]
tCapacities are per set of jaws and are not simultaneous
DESTACO GR-PRC-25 Dimensions and technical information are subject to change without notice
A oovER) conpaxy




DPL-2535

2-Jaw Precision Parallel Grippers | Dimensions and Technical Specifications

197 [7.76]
Sensor Accessories 2535

Inductive Sensor Mounting Kit (3 holders + 2 flags) OSMK-099 183 [7.20]

4x M5 x 12 [.47]DP
Seal Repair Kits 2535 B @ D
Buna-N Seal Repair Kit SLKT-233 7
Rear Inlet Seal Repair Kit SLKT-316 | |$ © @D © é| |

Mounting Accessories 2535 ¢ - - [2.40]

In-line Jaw Mounting Kit ODPL-002

| [¢e@e¢| |
mm [INCH] 6 @ ;

Gripper Manifold @—E][ c 20 +0.016[0.7874 =0.0006]
Air Port

i THIRD ANGLE = 40 [1.575]
31.9 xD5.7 PROJECTION
17.5[0.689] ~— 54[2.13] —= 17.5[0.689]
4.2 A
Max. ir ports
[0.165] Max Jaws shown at mid stroke ﬂ & X8 p_31 DP
LT T Il LT 1
Our grippers are supplied with T T
open side air ports and top air ﬂ [} ry‘ H [} 14 [0.55
ports plugged. When operating [ [ 14 [0.55]
top air ports, produce manifold Aux. Air ports -
sealing as shown (seals are M5 x 8 [0.31] DP — =
provided with your gripper in Supplied .I d B
a sealed bag) Part# SLKT-316 upplied plugge e
f[«— 57[2.24] —= 171 [6.73]
8[0.31] 17 [0.67] 2 x ManifoldAir ports
4xM5x8[.31]DP M5 x 5 [.197] DP supplied plugged
-0.020 -o.ooosl 21[0.83 5 [0.20] donotexceed 19.05 [0.7500] Provided with2 x O-Ring @1.9 x @5.7
12 -0.041|0.4724-0.0016 mounting hole depth [
i & ‘
75 [2.95] © T © \ Q LS5 I
: N
{ ) 61.00 ©@® 0
67 [2.64] . [2.4016]
54
SUrREA ZI 25[098] | 3810 ¢ - - (2.13]
N -
T ‘@Q o0
8[0.31] 7 [0.28] @_@ @—@ B
40.015 m.oooal 2x0 6:(',%3182 bP e 76[2.99]
5 40.006|4 x @0.1969+0.0002 02813 [2x@ 0.2362-0.0000x0.3 DP|
[0-83] 133.00 [5.2362]
44 [1.73] - 2x @ 5H9 x 6 DP
Purge /Scavenge port +0.0012 4 x M8 or 4 x clearance
2 x M5 x 6 [.24] DP BOTH SIDE 542.13] [2x@ 0.1969 -0.0000x0.24 DP] ©6.8 [.268] for M6 SHC Screws
Loading Information
z —Z==M
N Ibs GRIP FORCE PER FINGER @g
400 904 (springs compressed at mid-stroke) v X
WARNING! [o] T
g \\\’00 Ps; DO NOT EXCEED ] L 1 ¢ Fr2 Fr2
300 67 NS [6 b, MAXIMUM EFFECTIVE i " wmx
w Psy [5.5 FINGER LENGTHS My
2 \6\0”5I 2 bar] N ~_ v
5200 45 o [4.1 Barm=——
& Si27 bar] N\\
Q100 22 = | — DPL-2335 Static Dynamic
= —— R : Maximum Tensile T 267 N [60 Ib] 89 N [20 Ib]
[ l l N Maximum Compressive € 267 N [60 Ib] I 89 N [20 Ib]
1] 2 4 6 8 10 12 in. 2 B B
S 2 a0 1% 250 2% spaim. Maximum Moment Mx TINm[100in-lb] | 3 Nm [25 in-lb]
EFFECTIVE FINGER LENGTH - L Maximum Moment My 14 Nm [120 in-Ib] I 3 Nm [30 in-Ib]
Maximum Moment Mx 11 Nm [100 in-lb] I 3 Nm [25 in-Ib]
tCapacities are per set of jaws and are not simultaneous
Dimensions and technical information are subject to change without notice GR-PRC-26 DESTACD

conranr




DPL-3230 I8 | DilR

2-Jaw Precision Parallel Grippers | Dimensions and Technical Specifications

4 x Mé x 12 [.47] DP

Sensor Accessories 3230 186 [7.32]
Inductive Sensor Mounting Kit (3 holders + 2 flags) OSMK-100 o 172[6.77]
|

Seal Repair Kits 3230 -D @ 3}
Buna-N Seal Repair Kit SLKT-234
Rear Inlet Seal Repair Kit SLKT-316 | |¢ © @ © é| |
Mounting Accessories 3230 ¢ % = 79 [3.11]
In-line Jaw Mounting Kit ODPL-003 |

| [o0@0¢| |

mm [INCH] + @ ;

!
@—E][ ¢ 22 £0.016 [0.86610.0006]

Gripper Manifold
Air Port THIRD ANGLE = 44 [1.732] =
o PROJECTION
21.9x 5.7 15 [0.591] ~— 58[2.28] —= 15 [0.591]
B Air ports
¢ 1/8" BSPP x 8[.31] DP
42 I T

Our grippers are supplied with
open side air ports and top air

[0.165] Max. BEE ==
Jaws shown at mid stroke dr H D‘ D‘ H k 20[0.79
=

ports plugged. When operating : g,L
top air ports, produce manifold
sealing as shown (seals are — FL
provided with your gripper in . L
a sealed bag) Part# SLKT-316 Aux. Air ports ]
1/8"BSPP x 8 [.31]DP
Supplied plugged
o 160[6.30] 15 [0.59)
l— 66[2.60] —=
8[0.31] , 22.5 [0.886] 4xM10x 10 [.39]DP 2 x ManifoldAir ports
donotexceed M5 x 5DP supplied plugged
-0.020 -0.0008 26 [1.02 5 [0.20] mounting hole depth 38.1[1.500] Provided with2 x O-Ring @1.9x @5.7
14 -0.041 |0.5512-0.0016 ¢
o S : ~a 0
© : 9 U Ye Q
93 [3.66] 76.20
[3.0000]
83 [3.27] ¢— - 60 [2.36] ¢ . 72 [2.83]
44 [1.73] 79.00
| A [3.1102] ‘
80.31] %Q_ j PN ~ ‘
own i e 0BG [8p
o ous m.oooa] 25 2x 06H+90x02]|3P / J
10.006 |4 x 0.2362 +0.0002 52 1205 s 10781 [2x20.2362-00000x.31 DPI 69 [2.72]
Purge /Scavenge port [2.05] 2x D8HY x 1(;)13P 116.00 [4.5669] 4 x M8 or 4 x clearance
2x M5x 6 [.24] DP BOTH SIDE | |«— 63 [2.48] —= [2x 60315190008 39 DP] ™ /@ 6.80 [0.27] for M6 SHC screw

Loading Information

z —Z=M
N Ibs. (sprﬁgkiz:rgg:;s:sir In';lifi;:t'toke) % %
7001577 WARNING! Y X
35001 K SR R C
¥ 500112 FINGER LENGTHS i 1 —"mx
§ 400 90 = N
= 300 67 Zho~—=2
g 200 45— N DPL-3230 Static Dynamic
® 100 22 =~ Maximum Tensile T 1525 N [343 Ibs] 270 N [61 lbs]
0o o0 ' = Maximum Compressive € 1900 N [427 Ibs] I 270 N [61 lbs]
S 2 80 & 23 2% b2in. Maximum Moment Mx 76 Nm [673 in-lbs] | 8 Nm [71 in-lbs]
EFFECTIVE FINGER LENGTH - L Maximum Moment My 227 Nm [2009 in-lbs] I 22 Nm [195 in-lbs]
Maximum Moment Mx 120 Nm [1062 in-lbs] I 22 Nm [195 in-lbs]

tCapacities are per set of jaws and are not simultaneous

pr—

DESTACO GR-PRC-27 Dimensions and technical information are subject to change without notice




DPL-3250

2-Jaw Precision Parallel Grippers | Dimensions and Technical Specifications

Sensor Accessories 3250 246 19.69] X M6 x 12 [.471DP
Inductive Sensor Mounting Kit (3 holders + 2 flags) OSMK-100 e
232 [9.13]
Seal Repair Kits 3250 | /
Buna-N Seal Repair Kit SLKT-234 O o/ D
Rear Inlet Seal Repair Kit SLKT-316 | H}@@@él |
I
Mounting Accessories 3250 *‘HH -+ € 79[3.11]
In-line Jaw Mounting Kit ODPL-004 |
@90
D @ ‘
mm [INCH] T
@_ﬂ & 22 +0.016 [0.8661+0.0006]
Gri Manifold -] [
T P THIRD ANGLE 4401.732]
| PROJECTION
| @1.9 x B5.7 25 [0.984] e 581[2.28] = 25 [0.984]
4.2
[0.165] Max. Air ports
1/8"BSPP x 8 [.31] Dl
Our grippers are supplied with Jaws shown at mid stroke = =
open side air ports and top air Jaws shown al mid siroke 20 [0.79]
ports plugged. When operating o H H =
top air ports, produce manifold —e—
sealing as shown (seals are ==
provided with your gripper in
a sealed bag) Part# SLKT-316 — *H:
1
Aux. Air ports
1/8"BSPP x 8 [.31]DP ¢
e 220 [8.66]
15 [0.59
= 66[2.60] —~
8[0.31] | 22.5 [0.886] 38.1 [1.500] 2 x Manifold Air ports
-vozo[ -o,ooos] 26 [1.02 4xMI10x 10 [.39] DP 1[0 _ M5 x 5DP supplied plugged
14 -0.041]0.5512-0.0016 6[1.02] 5 [0.20] B8 " o not excoed Provided with2 x O-Ring @1.9 x @5.7
mounting hole depth €
o 0@ @<
93 [3.66] 1
- 76.20
83 [3.27] [3.0000]
¢ — — 60 [2.36] ¢ i 72 [2.83]
4411.73] 79.00
v [3.1102] ‘
8[0.31] / \%_ l : o ;
ls — XX L3
40.015 moooe] l 99 [3.90] —
4 x 6 +0.006 | @0.2362 +0.0002 25 [0.98] 176.00 [6.9291]
52 [2.05]-~ 2x @6%%33 DP 2 x @8H9 x 10DP X MB ordx cl
Purge /Scavenge port +0. ] [ +0.0014 l X or 4 x clearance
2 x M5 x 6 [.24] DP BOTH SIDE 63 [2.48]—~ 2 x ©0.2362-0.0000x 0.31DP 2 x®0.315-0.0000x 0.39 DP 6.8 for M6 SHC Screws
Loading Information
z —Z==M
N Ibs, GRIP FORCE PER FINGER y
700 157 (springs compressed at mid-stroke) M X
WARNING! T
o 600 1351 DO NOT EXCEED L 01 ¢ . -
MAXIMUM EFFECTIVE ] 1 'y
500 112 [6 er] FINGER LENGTHS Mx
Q 200 90- ~ M
o .1 b, \
] 40 L/
5 300 67 PSI 27 o =
0 200 45 1 f = _ : .
z [ 0PSI[0bay \ : DPL 250 Static Dynamic
100 22 | —_ Maximum Tensile T 1850 N [416 Ibs] 260 N [58 lbs]
0 0 t t . Maximum Compressive € 2315 N [520 Ibs] I 260 N [58 lbs]
4 12 16 in. g . "
o 100 200 300 avermm Maximum Moment Mx 87 Nm [770in-lbs] | 8 Nm [71 in-lbs]
EFFECTIVE FINGER LENGTH - L Maximum Moment My 350 Nm [3098 in-lbs] | 32 Nm [283 in-lbs]
Maximum Moment Mx 190 Nm [1682 in-lbs] | 32 Nm [283 in-lbs]
tCapacities are per set of jaws and are not simultaneous
Dimensions and technical information are subject to change without notice GR-PRC-28 DESTACD
ATooVER) copawy




DPL-4040 X | DiR

2-Jaw Precision Parallel Grippers | Dimensions and Technical Specifications

4x M8 x 17 [.66] DP

Sensor Accessories 4040

238 [9.37]
Inductive Sensor Mounting Kit (3 holders + 2 flags) OSMK-101
e 220 [8.66]
Seal Repair Kits 4040 & ¢ i =
Buna-N Seal Repair Kit SLKT-235 | A
Rear Inlet Seal Repair Kit SLKT-316 | |©®@@ é| |
\
Mounting Accessories 4040 ﬂ + ¢ 94 [3.70]
In-line Jaw Mounting Kit ODPL-005 |
0000 O
& [ o
mm [INCH] ©
@—E][ & 26 £0.016 [1.0236 +0.0006]
Gripper Manifold
f = 52 [2.047] =
I Air Port R eniE 20 [0.787] 52 [2.047] 20 [0.787]
= 1.9 xDB5.7 = 70[2.76] —- i
Air ports
42 Jaws shown at mid stroke 1/8"BSPP x 8 [.31]DP
[0.165] Max. ”"‘DTD"‘“ :
| |
. — q HY gy 22[0.87]
Our grippers are supplied with al
open side air ports and top air [ ——
ports plugged. When operating =
top air ports, produce manifold e T
sealing as shown (seals are — —[ig
provided with your gripper in _l
a sealed bag) Part# SLKT-316 Aux. Air ports
1/8"BSPP x 8 [.31] DP 202 [7.95
Supplied plugged [7.951 | 2310.91]
— 81[3.19] —=
81[0.31] 30[1.18]
4xM10x 10 [.39] DP 2 x ManifoldAir ports
-0.020 -0.0008] 31[1.22] 8[0.31] HTTH xdono,; ex!ee&, 38.1[1.500 M5 x 5DP supplied plugged
18 -0.041 [0.7087-0.0016 " _mounting hole depth ¢ Provided with2 x O-Ring @1.9x @5.7
IJak} -~ A
- Ve O e ©
112 [4.41] 0@
94.00 [3.7008]
100 [3.94] o} ®rC 60 [2.36] o} . 76 [2.99]
53 [2.09] 76.20 [3.0000]
[} X
.39 11/ 72y
[0.39) 12 [0.47) o ~ @ ? Q
e ¥
+0.015 +0.0006 ]
4 x 8+0.006 |@0.3150 w.oooz] 34 [1.34] 89 [3.50]
160.00 [612992]
Purge /Scavenge port ~ 65[2.56] = 2 x @8H9x 8DP 2 x @8H9 x 10DP
2 x M5 x 6 [.24] DP BOTH SIDE +0.0014 +0.0014 4xM10or 4 x clearance
~— 78[3.07] —= 2x|©0.31-0.0000]x 8 [.31]DP 2x@20.31-0.0000x.39 DP @ 8.5 [.33] for M8 SHC Screws
Loading Information
z —Z=M
N Ibs. QRIP FORCE PER FIN{{;ER . %
1000 225 - (springs compressed at mid-stroke) Y X
WARNING! CT T
& 800180 MAXIMUM EFFECTIVE i i Fr2 F2
S~ 1 .
n 8 FINGER LENGTHS | T
g 600 135 N
o 40 p ;\
< 400 904 SI2.7% <
& " "
2 o " DPL-4040 Static Dynamic
£ 200 45— S1[0 bar] \ Maximum Tensile T 2030 N [456 Ibs] 400 N [90 Ibs]
0o o0 ! \‘ Maximum Compressive € 2440 N [549 lbs] I 400 N [90 Ibs]
0 4 8 12 16 in. i in- in-
9 100 200 200 200m Max!mum Moment Mx 135 Nm [1195 !n Ibs] I 14 Nm [124 !n Ibs]
EFFECTIVE FINGER LENGTH - L Maximum Moment My 420 Nm [3717 in-lbs] | 43 Nm [381 in-lbs]
Maximum Moment Mx 220 Nm [1947 in-lbs] | 43 Nm [381 in-lbs]
tCapacities are per set of jaws and are not simultaneous
DESTACO GR-PRC-29 Dimensions and technical information are subject to change without notice
A oovER) conpaxy




DPL-4070

2-Jaw Precision Parallel Grippers | Dimensions and Technical Specifications

4x M8 x 17 [.66] DP

Sensor Accessories 4070 328[12.91]
Inductive Sensor Mig Kit (3 holders + 2 flags) OSMK-101 310 [12.20]
|
Seal Repair Kits 4070 D $ o
Buna-N Seal Repclir Kit SLKT-235 | | ® @@@ é| |
Rear Inlet Seal Repair Kit SLKT-316 : i :
¢ l — } — 94 [3.70]
Mounting Accessories 4070 ul | ’
In-line Jaw Mounting Kit ODPL-006 o® @O &
o
[INCH] - ? ~
mm .
@—ﬂ ¢ 26 +0.016 [1.0236 +0.0006]
Gripper Manifold = 52 [2.047] |=
‘Air Port THIRD ANGLE
B PROJECTION 35[1.378] 70 [2.76] 35[1.378]
21.9xD5.7 )

4.2

[0.165] Max. Jaws shown at mid stroke

Our grippers are supplied with - g -

Air ports
1/8"BSPP_x 8 [.31]D

open side air ports and top air H H \j H ] 22 [0.87]
ports plugged. When operating
top air ports, produce manifold =] B
sealing as shown (seals are |
provided with your gripper in
a sealed bag) Part# SLKT-316 — 4
Aux. Air ports
1/8"BSPP x 8 [.31]DP
Supplied plugged 292 [11.50] 23[0.91]
f=— 81[3.19] —~ —_ 2 x Manifold Air ports
81[0.31] 30[1.18] M5 x 5DP supplied plugged
0020 00008 4xMI0x 10 [.39] DP Provided with 2 x O-Ring @1.9 x @5.7
18 5530 [0.7087 70005 111221 8[0.31] mo::,;,‘;";:,ze;pm 38.1[1.500]
Q
/Ui p
© @ \Y\ @0 J@/‘@
j T Y9
112 [4.41] |
- 76.20 [3.0000]
100 [3.94] ¢ - 6012.36] € - 76 12.99]
53 [2*.09] 94.00 [3.7008]
1 N
10 [0.39] / 12 (0.47] o @ oD O ® &
+0.015 +0.0006l — =—341[1.34] 134 [5.28]
4 x28+0.006 | @0.3150 +0.0002 250.00 [9.8425]
=— 65 [2.56] —=
Purge /Scavenge port . ! 2 x @8H9 x 8DP 2 x D8HY x 10DP
2 x M5 x 6 [.24] DPBOTH SIDE - 783.07] —= 4 x M10 or 4 x clearance

+0.0014 +0.0014 l
2 x|20.31-0.0000 | x 8 [0.31] DP 2x@0.31-0.0000x.31DP 8.5 [.33] for M8 SHC Screws

Loading Information

conranr

z —Z=M
N Ib GRIP FORCE PER FINGER
S. (springs compressed at mid-stroke) Y X
1000 225
\ WARNING! c1 T
2 300 180 P T £ MAXIMUM EFFECTIVE : ¢ e i
S~ HH
n Lo ps,z [8 bay FINGER LENGTHS T "
o 40 Py el =
o 400 90 \% b
§ T/ DPL-4070 Static Dynamic
£200 45 2051 [0 bar] ’y Maximum Tensile T 2510 N [564 Ibs] 400 N [90 Ibs]
0o o ! ‘\‘ Maximum Compressive € 3010 N [677 Ibs] I 400 N [90 Ibs]
0 4 8 12 16 20 in. Maximum Moment Mx 160 Nm [1416 in-lbs] I 15 Nm [133 in-lbs]
0 100 200 300 400 500mm - - -
EFFECTIVE FINGER LENGTH - L Maximum Moment My 665 Nm [5885 in-lbs] | 64 Nm [566 in-lbs]
Maximum Moment Mx 350 Nm [3098 in-lbs] | 64 Nm [566 in-lbs]
tCapacities are per set of jaws and are not simultaneous
Dimensions and technical information are subject to change without notice GR-PRC-30 DESTACD




	DPL



